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1. ERRES (BfHI:H)

DB E| |Fees-sm e 700% =
Q%L 29, 700 x A =
QFEZ 20, 3000 x 1{H®E =
| O~Q&dt

| 1o0mkHEIIET S =R

|EESEREE ()] | 660,000

OMER, TEHIDERFMRE BEI L FFE

7ENERR - - - BEPERRUA3 A+ 105 X FAEmEEZNH—1)UT 8910 A i 6,090 M

SENERE - - - EHHERR (435 ) + (BRIEEE x305FM) +10FA X (FAEMBESOH—1)LIT14850 B ! 10,150 M
2ENERR--- BT (435 ) + (BRR B 56 /) +10FH x FAESFREBESOH—1)LLT 123,760 A | 16,240 M

BREL 29,700 M | 20,300 M
2. 2B KEXESH (B M)

DFF 5 E| |meem-enm X 2.68% =
Q%L 11, 300 x A =
QFZEE| 7,700 x 1@ =
| O~0&it

| 100mkHEIIET S =R

|XE& s E8EB)] | 260,000M

QHM%EE|, FEIADEBAE HER L TEE

7E|ERE - - - BEERUIAA)+105H X (A 5mMEEZOH—1)UT 3390 @ i 2310 M

SENEER - - - EEEHERR (435 M) + (FRIRIRE R x 30.55 M) + 105 x (GEIEFOH—1) LT 5650 A 3,850 A
2FNBER - - B RERR (4375 F) + (BRIRBE R x 565 ) + 105 x (FEEFMEEFOH—1HLT | 9040 A 6,160 A

BREL 11,300 A | 7,700 A
3. NMERIES FH1t 408 ~65RFBOAICIADE TERINET. (Bif7: M)

DFF 5 E| |Feem-ermm X 2.25% =
Q%L 12, 100 x A =
QFEZ 6, 100M@ x 1% =
| O~0fit

| 100mk#IET S =R

B ERE(C) | 170,000M

O¥FE, FHINDERBE ¥ER | EEE

7EIR - BEEPERAIAMA)H10AA X (EEFEEZEOH—1)UT 3630 @ i 1830 M

SE|ER - - BHEER (435 M) + (IR E X x 3055M) +105M x BEFREEZDH—1) LT 6,050 A | 3050 M
2SR - - B (435 M) + (BRRREH x56 ) +105A x FAS5BEZDOH—1)LLT | 9680 M 4,880 M
B L 12100 @ ! 6,100 M

EREEAKR 5 (A)+(B)+(C) M
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